N
QO
=
=
rL
H1

oo™

8H| ‘84811 34

o = A S ASHI(MY) | B | T2
A 18724 11,751,052
1 DIZIHAIE X (6. 25& M S 2 X ALK 12,000 98] H=XI=
2 DIIAAS X[ NAZALME Y 105,500 | 98| A=K
3 DIPIHAIE R[0S S8 A 51- 01 A H| A BHE 28,500 | 90| A& X
4 DIt A X x|°f'u|E°43 %g@ 64,000 | 100] HZ X
5 DIZFH AL X [AHOFS OFAI A 10,000 86| HEXI
6 DIZISAIE X (ANOFS2S J|L§, Ab 5,000 91| AZXA
7 SN R 12,000 91 HEX=
8 DIZINEE X [ZC MSAIE OIS 2= 8,100 89 A=A
9 DI2FSH AFE X [DI2FCHR| B ALK& 5,996 | 90| ASXA
10 DIZIHAIE X [AMOIS X S A o1 &H3 4,000 87| ASKA
11 Y [N =2EX (022 FE0|BAIE 2= 34,920 | 100] HIE X
12 DIZISHAIE R [0 & Er S X2 10,000 | 94/ HEX
13 DIIHAEXDIZTEHE =205 294 X 7,000 98/ AT
14 DIZIHASXIDIZTEHE (292 S0ty o 8,000 89 A=A
15 DIZIAABXE (SN SQ0tE Ast 2,000 98] A=K
16 DIZIHAEX[EU2 R 23 2,000 97| HSKLA
17 DIIHAS X [FOINXAME T2 ¢Hs &8 EX 11,000 92/ HEXHA
18 DIIFASX[Z0NXIME Sot2itHa &8 B8 5,000 | 84| A=A
19 | EXSXD [CIZBABE[QX0IS HIIAE B 6,600 | 100] A= X
20 DIZIAMNBX(QX0IS JIIAAAE R2FA 10,000 | 100] HIZ X
21 DIIHAE X [QEAE B23(H2 L S2AE) 4,000 91| AT
22 DIZIAMNSX[MEANZ HEH A 6,400 | 90| HASXA
23 DIZIAMNBX|MEAZ S5 O|HIE BHA 11,000 92/ HEXA
24 DIIHAS X [201)| MBS LPIAAIA %Eugm 48,840 [ 100] HI= X2
25 DIIHAS X200 MBS X2 AI0 AL HE 35,620 | 100] HIE X
26 | EXAD [QIAAABSE|HANC DS 5,000 96| S
07 DIIHASX[AUINESH AU 4,000 92/ HAEXA
28 DIIHAE K[ =21 Furah AL 1,000 91 A=K
29 DIZIHAS XA CHH ES2UH3 2,000] 90| HEXI
30 DIZIHASX[AMEYE Xt 29 5,000 93] A=XA
31 DIZFH AL [0 A 3= 2HBH A 8.000| 93] AZXA

32 | ABIEXNE X |ZEDIETE HEssnz )y 29 2,000 90| AT
33 ANSEXNEX|2IIE ZESMIE SSTA A 43,200 98| H=XI
34 NN N EINENE 35,000 90| AKX
35 AFSIEXIE X [HIHQCIO)Y ALK 2 10,000 93] HEX
36 AT EX(SHES 294 X 13,200 98] H=XI
37 NEEN AN EREEEEE] 30,000 | 98] HEX
38 NEENEHNEEFEEECENRE 8,000 | 84/ H=XHA
39 NEENEEEERNEET] 16,500 | 97| H=X
40 NEENEEHEEEEERTEEE DI 79,200 97| HEX
41 ASIEXEX|L019 & J|& 2 LOoIfH3] 10,000 | 96| H=XI
42 ANSEXNEX|CoIe 29 X2 16,000| 86] AKX
43 ANIEXNEX|[CoEMNIE MAISKA 2,000 86| HEXIA
44 ASIEXNEX |2t L0 HOIESUWS X 10,000 97] HEX
45 ANSEXNEX[R S0 HOIEEWIXA 2,000 96| A=K




ol gy 2z A o AP (BR) | B | Bt D
46 | SNET [MEI=XEE|E Hatslz)] Jeec=a0sl A 500] 97| AZKE
47 M =XEX B2 ZAAA 49,500 98] H=XI&E
48 NEENEE L PR 20,000 89 HEXIH
49 Q=28 BEY AMS 560,000 93] A= XIE
50 DNNETE [ H2OEE U B4 150,000 | 94| A2
51 CIGEEE NEI2Y EHH(ALBEI 2N S) 40,000| 85 AZ K&
52 Q222X L =XAE A2 048X 162,000 77| A K&
53 INHN T NHOISHE oFs =9 2,000 95 A=K
54 DIFEAEE 020/ 28K BAEE 12,000 95[ AZ K&
55 M ZNEE[NHOISHE DHRPE XS 8.000 | 95 HZXIS
56 DINHN T [ SRAIL TS 2 2,000 95 AEXI
57 ME=XEXESANE 253 ALK 7,000 95| A= XIE
58 MBS 2E[ERAE and Az 20,000 95| A&
59 MBI ZXEE FRAE OfS2HAE X 116,100 | 95| A2
60 DIZEAEE HAE Btils SN 5,000 94 HEXS
61 DITHANEE (A E SSAXNSANE SN 2,000 95/ HZXH
62 Y EIEEEFEEE R 3,500 94| A=K
63 CITEAEE [ AERSAZ L) BAXS 1,500 95 HZXI
64 NEENEESEEr PEEE EEl 2,000 94 A=K
65 AME=XEEBBSEANIZ 1= 5,000 95 A&
66 | 2atd= QANEEE BESNA] ¥ B4 126,000 | 94| AEXI2
67 QIZIHAIE X | S8 dEM=sUHa iz & =8 157,500 97| HSXE
68 NN TR FuI2 M 5,333 94| HEXS
69 DINIHAEE [P0l 2ottt AN 5,000 90 A&
70 DI 2P AP 7 | 501 5 0131 81 3 Al 44,000 96/ AZ K
71 RN e 80,000| 95/ HE K&
72 QIHEMEX | HEMENMS L 3,750 95| A= XIE
73 DINENDE EHSC MBS 2o S 23,500 94| HEXS
74 I NEE R0 S DA2Y 4,500 94| HEX
75 INHANEE A LA 10,000 98] AEXI&
76 DIIHN S SR AP M S0 25,000 93| A&
77 DI PN B | FE I QRIS A 2 140,000 | 93] AEX
78 e PN e 4,500 93| A&
79 NN [ FER MEZOS 13,000 93] AZXI&
80 QIZHHAIE & | ZOHI M S TH 3 5,000 93] A= XIE
81 DI A A ThH Xl 2 4,000 92 AZXS
82 DIIHN X S22 =l 2B 34,800 92 AN
83 DINFNEE G237 2B 18,000 92[ AZ K&
84 DI A DX | SE2I R S 0I2tE 3 10,000 91 A=K
85 EEPEESEN 5,000 91 HEX
86 QItEME X |8t =25tst A& 6,000 90| A= XIE
87 IR S sed+2S g 9,600 90| AEXI
88 OIIHNEE | SH R U DAL 30,000 90| HEXIS
89 QI2tFAEX 2 ONSHAEXIE 4,000 94| H=XE
% OIS APE = | L= O SOIEN T 3 30,000 90| HEXIS
of DN BE BEHEHE2Y 4,500 90| A&
%2 CNHNEE B0 EHESHAIEE 15,000 89 AEX&
93 DI2H A A% A G 2 OFf O 8 Af 10,000 89 AZXI&
% I AN TR NE 2B H A 5,000 89 A&
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95 | EatMdl=sl [22AFYEX R0De 2359 20,000 | 88| HI=XIE
96 QB YEX | MESHU=MXX & 20,000 | 88| HISXIE
97 I2HE o2& |[AIHGHSHOI 88 At 3,000 90| AI=XIE
98 QIZHHALE X | 2RI 2 AR & 80,000 | 88| A=K
99 QI2tFAE L XY Z23EAMEESHI 47,000 | 88 AKX
100 CIZIFANEX E3tU=dSSALX & 25,000 | 87| HI=XE
101 DIZHHAIE X [HI508 ECIMSUHSIEH 150,000 | 97| HISXIE
102 QIZIANEX | SEHUHSEAEXNSUS 2,250 87| A=K
103 OI2FHHAFE & [ XI4435] LHHI = 2= 720,000 | 92| AIEX&E
104 QIZtEYEX HAUEZT =242 9,000 97| A=K
105 Qa2 X NS E3EAME=EeI 2] 20,000 | 98] HISXIE
106 QIZIHAE X M5 EE =S ANAHES S =M HUE 165,000 | 95| HI=XIE
107 QIZHHAIE & | EQIHE FEPA2E 32 1,800 | 91 AISXE
108 QIZIHAIE £ K508 CBIMAEEY 797,182 | 81 HAISXE
109 QAFYEX s SEAHH 30,000 | 89 HI=XIE
110 QIIX =2 X RIZINSAIE (22 E)EH X 35,000 | 87| HISXE
111 QIZIAMNER | SSEEFA 350,000 | 95| HISXIE
112 QZtEEx A SHS A ALE 946,200 | 100] HI=XI&
113 QIZtAEE R |SADA - HBIX S 142,086 | 100] HI=XI&
114 Qltda2x 8 =801 2X 47,413 | 100] A=K
115 QIFAEX SSUSHAEE 24,763 | 88| H=SXE
116 DIITGEER | UM (ANEEE S22, SM=sY) 376,254 | 100] HISXI&
117 22X H S2E ZA2SE K& 130,018 | 100] HI=XI&
118 QlZtAEE x| SEEYN 2 25 SidE T X2 369,000 | 98] HISXIE
119 QI Z2E2 X | ZAIE MAX & 26,028 | 100] HI=XI&
120 O Z2E X |sH s AKX E A 290,000 | 100] HI=XI&
121 QN EEX |SMHERSAEEX 314,520 | 100] HI=SXI&
122 Q22 R | SE2=dAXE 45,600 | 100] HI=XI&
123 QIZISHALE X |SsSUE S5 BEAN s uUFEH N A 106,000 | 91| HISXIE
124 QIZt=Ex | =22 E N AN 103,350 | 100| HI=SXI&
125 QlZtAE 22 | =t M A AP HI X & 172,950 | 100] HI=SXI&
126 QIIEMEX | SSUHESE & SSEdHESEME 30,000 | 100] HI=XI&
127 QN EEX | SSEHESEAMY 30,000 | 100] HI=XI&
128 Q=22 QI8 S S A X A 93,301 | 100] HI=XIE
129 QIZtFYEX |2z SMUE AHISE 13,494 | 100] A= XI&
130 lZtFAEX Oﬁ‘%iEII Sl HHEAIMAX & 6,870 | 62/5-10%2 24
131 QIZENG 22 X A ETHA AT 78,260 | 100] HI=XI&
132 QI2HX 2 2 & [HACCPRI S s It AHE ALY 39,970 | 100] HI=XI&
133 DIITGEER | U+ MN2 (SSHY HAAMNEY B2HH) 63,496 | 100] AISXI#
134 ORI Z22x | EEEEM MEAA 3,570 | 80| AI=XIE
135 gzt X | e NEded i 42,114 100] AISXI&
136 QIZt =2 & | =S s I & 19,816 | 100] HISXIE
137 QI 222 |2t s 19,450 | 98] AISXIE
138 DIZIHALE X |2t = A 200,000 | 94| HI=XIE
139 QIZISHALE X |22 = A 180,000 | 98| HI=XIE
140 QB YEX | FSsLUHE=Z 2L 25,000 | 98] HI=XE
141 QI A= 2 X | 2EEH HHE 4XAAE ALY 48,000 | 98] A=K
142 QI E2 X |[Es22 MAD|HEH Slat XA 200,000 | 97] HISXIE
143 QB2 X |UHY =ZTEH 24 2 25,000 | 96| HISXIE




|| HEEA == A E AtHI(HR) | B8 | EotZ 0
144 | 800 |UAZAEX XS|HIANNE sS2el A 20,000 | 96| HISXIE
145 QIHEANEX | WSEAN HERH 882X 10,000 | 86| HISXIE
146 QI =2 & |0 UEEHI ALY 1,000,000 | 97| AKX
147 QIZINGEE X |NHE 24 ALY 700,000 | 95| A= XIE
148 QItZAE X |2l SX2eldl 25,000 | 98] ALK
149 | THetz2te|dt |DIZHSHALE X [ THEFZ 18] 6.25 AL X 9,000 | 95 A=K
150 CIZIGEE X |HEIE X (EsS) 25,000 | 98] HI=XIE
151 |sgJl=dH |22 EX 4-He sS4 X3 10,000 | 100] A= XI&
152 QIZHHAIE X | SH B HRIIIES et 2] 10,000 | 100] HI=XI&
153 QIZHSHALE X | S 12| 3t Bl At 20,000 | 100] HI=XI&
154 QB2 | NeEsEXN A K& 2,100 80| AI=XIE
155 QItFAEX | MdsgosENE 6,000 97 A=K
156 QIZIBNEX | sEXNENSLERA 10,000 | 100] HI=XI&
157 QI2tE S E X | X 2H4-He B X 2 1,100 | 100] AISXI&
158 QIZHAAE X S W4-HI M E S K& 6,000 | 100] HI=XI&
159 QIHEAMEX | Fs4-HAIES S AR 15,000 | 100] HISXI&
160 ItFAME X | MEI ML 10,000 | 100] A= X&)
161 QIAFYEX ESULESAMEEXNE 20,000 | 95| AISXIE
162 QIIX =2 X |SSEH P QIHEIS ALY (AL 10,000 | 100] HI=XI&
163 QIIX =22 X |ESEHPSIQHEIEAM (S0 10,000 | 100] HISXI&
164 QRHZEx |sge e es3E82d JIJIES 2,400 | 100] AI=XI&
165 QIZtFMEX | ZEIsHas L GAPEHEAEY 14,000 | 100] HISXI&
166 Q=2 |FUAEE NN ASAIE 6,000 | 100] AI=XI&
167 QRIAZEX | ZEEEUET MIIsE2X& 12,000 | 100] HI=SXI&
168 QIZtEEx | =Sl ZHHSHHAIEL 3,000 | 100] A=K
169 QI =2 | IS S A 10,000 | 100] HI=SXIE
170 QIZtNEE2 A AL S A SHEZAIY 21,600 | 100] HI=XI&
171 QIZt=2 2 [ ZHUS SAIE MHIAIS 20,000 | 100] ALK&
172 QIINGZ2E X | 20| 2F o X AIS 2,250 | 100] A=K
173 QIZt=2x SMatZI=2H T Al 9,000 | 100] A=K
174 QIZtNEE X | S0tASESetel A A 12,000 | 100] HISXI&
175 QIZNEEx|NSE HEMHA JWUY SaAE 9,000 | 100] HI=XI&E
176 QIAA=2 X N IS HE MAESA AY 10,000 | 100] HI=XI&
177 QIZAEX TS BTN S DS EHMLAAIY 15,000 | 100] HI=SXIE
178 QIZtNEEx | DS EUES 28 EQHEAE 6,000 | 100] AI=XI#
179 QItt=2 2 |2 0S5 E HIE HAEHIsd 30,000 | 100] ALK&
180 QIZtNE=EX | S E LY M3 HEHAIY 15,000 | 100] HIE X
181 QIZtX =2 X AL AR J2 SEI=FLAE 5,000 | 100] Al=XI&
182 QI =2 |00y RIHX] SaAIY 5,000 | 100] AI=XI#
183 QIZFAMEX BIaHEM0I=E d=0d 40,000 | 70[5-10%& 2
184 2 24 & |DIAAAEX | AN HUS 25,200 | 89| HAISXE
185 QIZFHAIE X | HZ2Z2DIU 3 11,000 | 94| AISXIE
186 | &= A A | BIFAEX DS S Iz EX 25,972 | 100] HI=XIE
187 A2t A | RIZIHAIE R |2l QA ESE S=235HA 90,000 | 82| HI=XIE




